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Hi[E]MDegrep.rb

pattern = ARGV.shift
regexp = Regexp.compile(pattern)
ARGF.each {llinel

print line if regexp =~ line

}



5[l MDegrep.rb

N
pattern = ARGV.shift
regexp = Regexp.compile(pattern, p:
ARGF.each {llinel
print line if regexp =~ line
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% ruby egrep.rb -ijruby words
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Regexp.compile(pat, opts)

require
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p /abcdef/i =~ "ABCDEF" #=> 0

p /abcdef/i =~ “AbCdEf” #=>0

p /ABCDEF/i =~ “abcdef” #=> 0

p /ABCDEF/i =~ “aBCdeF” #=>0

p /abCDeF/i =~ “AbCdEf"  #=>0

p /abcdef/ =~ “ABCDEF’ #=> nil



Regexp.compile(pat, opts)
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I Regexp::IGNORECACE

* Regexp.compile THERKT D IEFRFRIRIC /abe/i D |
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r = Regexp.compile(“abc’, Regexp::IGNORECASE)
pr #=> /abc/i
pr=~"“ABC" #=>0
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p /a.b/m =~ “a\nb’#=> 0
p /a.b/ =~ “a\nb” #=> nil
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p/a b/x=~"“b’
p/a b/=~"“b’
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egrep.rtb CAX F/NXFHEH
I require 'optparse

I lpatopts =0

opt = OptionParser.new
opt def _option("-I", "case insensitive") {

Ppatopts |= Regexp..IGNOREC% QA BHoTD
} E MR A
opt.parse!
pattern = ARGV .shift
regexp = Regexp.compile(pattern, |
ARGF.each {lline|

print line if regexp =~ line
1
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pp ENV
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egrep.rb @ require
require ‘optparse’]

patopts = 0

I opt = OptionParser.new
opt.def_option("-I", "case insensitive") {

patopts [= Regexp::IGNORECASE
]
opt.parse!
pattern = ARGV .shift
regexp = Regexp.compile(pattern, patopts)
ARGF.each {llinel

print line if regexp =~ line
1
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require ‘optparse’
opts = OptionParser.new # A7 I NER
opts.def_option(“-", “case insensitive”) { # 7 0w & &%
#-i BNIETE J‘TLK_&:%O)&_*EE
|
opts.parse! # ARGV Z=EFRICEENTT S
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o 72 A.Nnew
I ° new EWDITTAAYYR
* opts = OptionParser.new
p opts #=> #<OptionParser ... ' RADT=KIA ...>



egrep.rb @ OptionParser.new
I require ‘optparse’
I patopts = 0

opt ={OptionParser.news

opt.def_option("-I", "case insensitive") {
patopts [= Regexp::IGNORECASE

]

opt.parse!

pattern = ARGV .shift

regexp = Regexp.compile(pattern, patopts)

ARGF.each {llinel
print line if regexp =~ line

1
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* opts.def_option(“-x”, “description”) {
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I egrep.rb @ def_option

require ‘optparse’
patopts = 0
opt = OptionParser.new

_option("-I", "case insensi
topts |= Regexp::IGNORECAS

opt.parse!
pattern = ARGV .shift
regexp = Regexp.compile(pattern, patopts)
ARGF.each {llinel
print line if regexp =~ line
1



I OptionParser#def_option

11 N N«

* opts.def_option(“-a”, “--text’, “all file as text file”)
R
* opts.def_option("-A NUM”, “--after-context NUM”)
WEZ T avE|E
* opts.def_option(“--color [WHEN]’)
BRE I gEA T3V B |
e opts.def_option(“-C NUM”, Integer)
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e Proc A7/ ME call AVY KT HES

def m(arg, &block) def m(arg)
block.call(arg)  (ZIFXZ{M  yield arg
end end

o Z(FENo/= Proc ATz MEIAYYRD R >
[ TEREVHEES
def m(&block) b=m{p1}
block b.call
end




I OptionParser#parse!
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egrep.rb @ parse!

require ‘optparse’

patopts = 0

opt = OptionParser.new

opt.def_option("-I", "case insensitive") {
patopts [= Regexp::IGNORECASE

}
lopt.parsel]

pattern = ARGV .shift
regexp = Regexp.compile(pattern, patopts)
ARGF.each {llinel
print line if regexp =~ line
1
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 [*I", "ruby”, "words’]
* opt.parse!

* [“ruby’, “words’]

* ARGV.shift

* ["words’]

 ARGF.each
° ]

I * ruby egrep.rb - ruby words



test/unit
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map = test/unit TTANT 3

require 'test/unit # require
def map(ary) ... end
class TestMap < Test::Unit::TestCase
def test_twice # T ANDEZE]
assert_equal([], map([]) {Ivl v*2}) # Z<AR1
assert_equal([2,4,6], map([1,2,3]) {lvl v*2})  # ZHA2
end

def test_non_destructive # T ANDEER2
a=[12,3]
map(a) {lvl v }
assert_equal([1,2,3], a) # Z<HA3

end

end



TANDEIT: RIHL%SE

% ruby map-test.rb
Loaded suite map-test
Started

Finished in 0.000371 seconds.

2 tests, 3 assertions, 0 failures, 0 errors
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TANDREIT: KL% E
% ruby map-test.rb
Loaded suite map-test
Started
F

Finished in 0.00695 seconds.

1) Failure:
test_twice(TestMap) [map-test.rb:10]:

<[2, 4, 6]> expected but was 2,4,6] 12125139
<[nil, nil, nil]>. [nil,nil,nilk< AR > 7=

2 tests, 3 assertions, 1 failures, 0 errors
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o Test:Unit:TestCase k&K L=V S A%{ES
class TestXXX < Test::Unit::TestCase

I * require 'test/unit’ &LFEICE<

end
e test CTHRFEBDAYVYYRZFDIZRICER TS
def test xxx

end
o assert_equal BEZFO>TEAGDHLETS



Z<FR: assert_equal 7:&

assert_equal(Z, =)
assert_not_equal(&FTxWLWED, R)
assert_nil(=X)
assert_match(/X\9—>/, X = 5))
assert_no_match(/ N9 —>/, XLF75)
assert_same(%, =)
assert_raise(fIH 2> R){ A—K}
etc.




map = test/unit TTANT 3

require 'test/unit # require
def map(ary) ...end # EREFERI SN HYIC require LTEH KL
class TestMap < Test::Unit::TestCase
def test_twice # T ANDEZE]
assert_equal([], map([]) {Ivl v*2}) # ZEBECHUH ZEECFIIC/ARBHN?
assert_equal([2,4,6], map([1,2,3]) {IvIv*2})  #[2,4,6] IC7TRBH?
end
def test_non_destructive # T ANDEER2
a=[12,3]
map(a) {lvl v }
assert_equal([1,2,3],a) #map L CHEFIDBRIEI A LAN?
end
end
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